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Arrange the following memory
types in the decreasing order of

their access speed :

(a) registers, cache, hard disk

drive, magnetic tape

(b) cache, registers, magnetic
tape, hard disk drive

(c) magnetic tape, hard disk

drive, registers, cache

(d) magnetic tape, hard disk

drive, cache, registers

The digital computer is based on
(a) Charles Babbage architecture
(b) John von

architecture

Neumann

(c) Alan Turing architecture

(d) None of the above

A computer program that
manages computer hardware

resources 1s known as
(a) Memory manager

(b) Database

system

management

(c) Operating system

(d) System software

B-A)

Consider the

statements :

following

1. Internet is a global system of
interconnected computer
networks.

2. Internet 1s also called world
wide web (www).

Identify the correct statement.

(a) Both 1 & 2 statements are
wrong.

(b) Both 1 and 2 statements are
correct.

(¢) Only statement 1 is correct.

(d) Only statement 2 is correct.

In a hard disk drive, the time
needed to move the head to a
specific track is called

(a) Seek time

(b) Rotational latency

(c) Reach time

(d) Track Find Time (TFT)

Identify the correct arrangement
of networks in the descending
order of their geographic area

coverage

(a) LAN, WAN, MAN
(b) WAN, LAN, MAN
(c) LAN, MAN, WAN
(d) WAN, MAN, LAN
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Ethernet is

(a) Local area  networking
technology

(b) A file storage system

(c) An operating system

(d A tool for networking
computers

NTES stands for

(a)
(b)

(c)
(d)

Network File System

Nano  Technology  File
System
Non Tamperable File System

New Technology File System

In the TCP/IP internet protocol

suite, TCP is the acronym for

(a)
(b)
(c)

(d)

Transfer Control Protocol

Traffic Control Protocol

Transmission Control

Protocol

Transaction Control Protocol

10.

11.

12.

13.

(5-A)

In measuring the size
computer memory, 1 kb
equivalent to

(a) 1024 bytes
(b) 1024 bits
(c) 1056 bits
(d) 1056 bytes

EEPROM is
(a) Electrically

of
18

Erasable

Primary Read Only Memory

(b) Non-volatile
(c) Electrically

Erasable

Programmable Read Only

Memory
(d) Both (b) and (¢)

Which of the

following

statements 1s not true about RAM ?

(a) Itis volatile.

(b) It can be accessed randomly.

(c) Memory access is faster
than magnetic tape.
(d) Costwise cheaper than

magnetic tape.

A network device that connects a
LAN with another LAN or WAN

is called
(a) hub
(b) switch
(c) router

(d) none of the above
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Identify the correct statement.

(@) MAC address is permanent
and IP address may vary
for a network device each
time it 1s connected to
internet.

(b) IP address is permanent and
MAC  address may vary
for a network device each
time it 1s connected to
internet.

(c) Both MAC

IP address may vary for

address and

each
connected to

a network device
time it 1is
internet.

(d) Both MAC address and IP
address are permanent for a
network device.

OSI reference model has
(a) 7 layers
(b) 8 layers
(c) 6 layers
(d) 5 layers

BIOS is

(a) the acronym for Built Input
Output System

(b) an abstraction layer for the
hardware

(c) the name of an operating
system

(d) Both (a) and (b)

17.

18.

19.

20.

(7T-A)

Identify the correct statement.
(a) TCP is connection oriented

protocol and UDP s
connectionless.

(b) TCP is  connectionless
protocol and UDP is

connection oriented.

(c) Both TCP and UDP are
connectionless.

(d) Both TCP and UDP are
connection oriented.

Which of the following is a
programs that
cause damage to your computer ?

malicious can
(a) Virus and Worm

(b) Trojan Horse

(c) Both (a) and (b)

(d) Pegasus

Identify the correct statement.

(a) Firewall is a software that
monitors network traffic and
strains  out  potentially
harmful data.

(b) Firewall
network protocol level.

(c) Both (a) and (b) are correct.

(d) Neither (a) nor (b) is correct.

works at the

ASClIl is a

(a) 7 bit code
(b) 8 bit code
(c) 16 bit code
(d) 32 bit code
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Voice recording device is

(a) Microphone
(b) Keyboard
(c) Track Ball
(d) None

Identify the wrong statement.

(a) A program under execution
is called as process.

(b) Paging is a solution for
external fragmentation of

memory.

(c) Operating system manages
the file system.

(d) Paging introduces external

fragmentation of memory.

SMTP stands for

(a) Simple Mail Transmission
Protocol

(b) Single Mail Transmission

Protocol

(c) Single Mail Transfer
Protocol

(d) Simple Mail Transfer
Protocol

24. Which of the following facts is

25.

9O-A)

correct regarding the provision
for reservation in promotion to
posts in the Civil Services of a
State in favour of the Scheduled
Caste and Scheduled Tribe
candidates ?

(a) The States are barred from

making  reservation  in
promotion.

(b) The States are bound to
make a provision for
reservation.

(c) Backwardness of the class

and inadequacy of
representation  of  these
candidates in public

employment in addition to
compliance with Article 335
of the Constitution of India
has to be examined before
making such reservation, if
any

(d) None of the above

reservation 18
which of the
following cases ?

Horizontal
provided in

(a) Both in direct recruitment
and promotion

(b) In direct recruitment only
(¢) Inpromotion only

(d) When there is shortfall in
representation
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26. Special relevance for the religious
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minorities in the Constitution of

India is exhibited in the following :

(a) The Preamble to the
Constitution which declares

the state to be secular.

(b) The Preamble that all citizens
of India are to be secured
liberty of belief, faith and

worship.

(c) Citizens’ right to ‘equality
of opportunity’ in matters
relating to employment or
appointment to any office
under the State and

prohibition in this regard of

discrimination on grounds of

religion, race, caste, sex or

place of birth.

(d) All of the above

27.

28.

29.

(11-A)

Table I indicates the category and
table II indicates the percentage
of  reservation in  direct
recruitment to any category in the
Civil Services of the State.

Table — 1 Table - 11
S1
No. Category Percentagfa of
Reservation
1.  Scheduled Caste 4
Candidate
ii.  Category IIT A 5
1.  Scheduled Tribe 15
Candidate
iv. Category III B 3

Which of the following pairs are
correctly matched with reference
to the above ?

(a) 1only
(b) 11 and iii only
(c) 1vonly

(d) None of the above
The

promotional reservation provided

total  percentage  of

in Karnataka State Civil Services

18

(a) 50%
(b) 18%
©) 32%

(d) None of the above

Reservation in promotion was

introduced in the State in the

year
(a) 1982
(b) 1992
(c) 1978
(d) 1995
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A direct recruitment vertical
reservation roster consists of
(a) 33 points

(b) 100 points

(¢) 50 points

(d) 18 points

What is the quantum of
reservation provided for
physically handicapped persons
in promotions in the Karnataka
State Civil Services ?

(a) 3%

(b) Nil

(c) 5%

(d) Depends on the available

number of persons

Which of the following clause
was inserted to the Constitution
of India, by the Constitution
(Seventy Seventh Amendment)
Act, 1995 dated 19-6-1995 ?

(a) 16(4)
(b) 16(2)
(c) 16(3)
(d) 16(4A)

Article 371(J) of the Constitution

of India provides for reservation

for persons belonging to the

Hyderabad Karnataka Region in

the following cases :

(a) In direct recruitment to
certain posts in the State
Civil Services

(b) In promotion to certain posts
in the State Civil Services

(c) In educational institutions in

certain cases
(d) All the above

34.

3S.

36.

37.

38.

(13-A)

Right to Information under RTI

Act —

(a) 1includes inspection of work

(b) does not include inspection
of work

(c) means only information

(d) means only documents

State Information Commissioner

1s appointed by —

(a) The President

(b) The Governor

(c) The Chief Minister

(d) The Chief Justice of High
Court

Any person who does not receive
Information from the Public
Information Officer within thirty
day may appeal to —

(a) Information Commission
(b) Appellate Authority

(c) High Court

(d) Head of the Department

“Competent Authority” in respect
of Legislative Assembly for the
purpose of RTI Act means,

(a) The Governor

(b) The Chief Minister

(c) The Speaker

(d) The Chairman

Sakala Services to citizens were
brought into force in the year

(a) 2011

(b) 2012

(c) 2013

(d) 2014
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Application for Sakala service
shall be submitted to

(a) Competent officers

(b) Designated Officers

(c) Controlling Authority
(d) Head of the Department

A citizen who fails to get Sakala
service within
shall be entitle to

stipulated time

(a) afine
(b) a penalty
(c) compensatory cost

(d) none of the above

Under Sakala, any person whose
application is rejected or who is
not provided services may appeal
to competent officer within

(a) thirty days

(b) sixty days

(c) ninety days

(d) one hundred and twenty days

Stipulated time to issue of Birth
Certificate by BBMP is

(a) 8to 10 days
(b) 10 to 15 days
(c) 15to 20 days
(d) 3to7days

43.

44.

45.

46.

(15-A)

“Public  Authority” for the
purpose of Sakala Services
includes

(a) Private schools

(b) Private aided schools

(c) Private technical schools

(d) Unaided schools

‘Chinnara Chukki’ radio

programme is being broadcasted

for the children of

(@) 6™ 7™ and 8" standards

(b) 1%, 2" and 3" standards

(c) 4™ and 5™ standards

(d) for the children of all the
above classes

The year/day on which the Right
to Free Education and
Compulsory  Education  for
Children came into Force by the
Central Government

(a) from 2009

(b) from 1 April, 2010

(c) from 21 December, 2010

(d) from 2011

For whom of the following
an incentive of two rupees is
being given per day of their
attendance ?
(a) Only for the girl students of
primary first std.
(b) For all students
primary first std.
(c) For S.C./S.T.
primary first std.
(d) All of the above

of the

students of
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The main reason for constitution

of S.D.M.C. in school is to

(a) provide infrastructure
required for school

(b) discuss about
activities with parents

school

(c) ensure community
participation  in  school
programme

(d) deal with Grama Panchayat

‘Nali-Kali” method of teaching is
existing for which of the
following classes ?

(a) From 1% Std to 5™ Std

(b) From 1* Std to 2" Std

(c) From 1* Std to 8" Std

(d) From 1* Std to 3™ Std

Who is the Education Minister of
Union Government ?

(a) Smruthi Irani

(b) Purandareswari

(c) Kimnsane Ratnakar

(d) Muruli Manohar Joshi

The background of establishing
the ‘Kastur Ba Gandhi Balika
Vidyalaya’ (Residential) is to

(a) attract the girl students.

(b) ensure the learning of
female children of orphan,
destitute and beggars and
also children of weaker
section.

(c) enhance  the
knowledge  among
students.

(d) increase the literacy rate
among parents.

computer
girl

51.

52.

53.

(17-A)

In which of the following

educational districts, Supplementary

Educational  Teaching  Method

‘EDUSAT is in force ?

(a) Chamarajanagar, Gulburga,
Mandya and Madikeri

(b) Chamarajanagar,
Ramanagar, Gulburga and
Bangalore Rural

(c) Mysore, Heggadadevana
Kate, Madikeri and Hassan

(d) Chamarajanagar,
Ramanagar,
Rural District

Bangalore

The place in which the monthly
consultancy meetings will be
conducted for primary school
teachers is

(a) Grama Panchayat Office
(b) B.R.C.

(c) Diet

(d) C.R.C.

What i1s the aim intended to

achieve by the Govt. from

‘Shikshana Hakku Abhiyana’

(Shiksha Kaa Hak Abhiyan)

programme ?

(a) To create awareness among
communities

(b) To increase professionalism
among the teachers

(c) To create awareness among

officers

(d) To create awareness among
organizations regarding
R.T.E.
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i1s that part of a case
consisting of papers received,
drafts of interim replies thereto
and draft of final orders issued
and arranged chronologically
from top to bottom.

(a) Current file

(b) Note file

(c) Backfile

(d) None of the above

Forms of correspondence
(a) Letter form

(b) Memorandum form
(c) Endorsement form
(d) All of the above

Note file is tagged to a
fly leaf.

(a) Yellow

(b) Red

(c) Blue

(d) None of the above

Permanent files of important
orders should be maintained for
reference 1s

(a) Note file
(b) Stock file
(c) Current file

(d) None of the above

58.

59.

60.

61.

(19-A)

Rent,
commission, interest, bad debts

salaries, wages,

are classified as

(a) Personal Account
(b) Real Account

(c) Nominal Account
(d) None of the above

To keep record of all receipts and
payments of money in business
1s maintained.

(a) Cash book
(b) Stock book
(c) Sales book
(d) None of the above

The Final Accounts of a business
consists of

(a) Trading Account

(b) Profit & Loss Account
(c) Balance Sheet

(d) All of the above

Choose the correct option :

(a) Accounting system is either
on cash or receipt basis.

(b) Accounting system is either
accrual or mercantile basis.

(c) Accounting system is either
hybrid or mixed basis.

(d) All of the above.
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Real account may consist of the
following type of account :

(a) Machinery Account
(b) Wages Account
(c) Insurance Account

(d) Capital Account

The record section files to be
disposed D-disposal means

(a) Destroy after one year
(b) Destroy after three years
(c) Destroy after twenty years

(d) Destroy after ten years

On which of the following basis, an
incentive money will be sanctioned
to the students belonging to
Minority Communities who have
passed in S.S.L.C. / P.U.C. /

Degree examinations ?

(a) On basis of that annual
income of the parents is
within the limits of ¥ 3.50
lakh.

(b) By considering the sub-sect
community of the minorities.
(¢) On the basis of eligibility of
marks secured by the
student during previous

academic year.

(d) On recommendation of the
principal.

6S.

66.

21 -A)

It 1s the objective of Minorities
Welfare Department to provide
remedial coaching to the students
belonging to Minorities. Which
of the following statement 1is
correct in this regard ?

1. It will help the students to

adjust  themselves into
English  and  Kannada
languages as they are

pursuing their education in
Urdu Medium.

2. It may prevent the students
from school drop out in the
middle of the academics
career.

3. To increase learning level of
the students.

4. It will help all the students
to achieve 60% result.

(a) 1 and 2 correct

(b) 1 and 3 correct

(c) 3 and 4 correct

(d) 1,2 and 3 correct

Under the
Department what is the maximum

Minority Welfare
amount of Merit-cum-Means
Scholarship that can be payable
to a student ?

(a) Upto maximum X 30,000/-
(b) Upto maximum ¥ 50,000/-
(¢) Upto maximum ¥ 25,000/-
(d) Upto maximum ¥ 75,000/-
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The Teaching Medium of the
‘Adarsha Shalas’ is

(a) Urdu

(b) Kannada

(¢) Child’s option
(d) English

Under the Minority Welfare
Department, in post metric hostels,
admission shall be given in the
following ratio to the students
belonging to rural and urban areas.

(a) 50% for the students of rural
area and 50% for the students
of urban area.

(b) 75% for the students of rural
area and 25% for the students
of urban area.

(c) 80% for the students of rural
area and 20% for the students
of urban area.

(d) 90% for the students of rural
area and 10% for the students
of urban area.

If the students who are getting
scholarship and pursuing their
higher education in abroad have
violated the rules, then how much
rate of interest shall be paid by
them to the Govt. ?

() 25%
(b) 15%
©) 12%
d) 5%

70.

71.

72.

73.

(23-A)

Who is the Chairman of the Pro-
gramme Implementation Committee
for promotion of education among the
Minority students ?

(a) Deputy Commissioner of the
respective district

(b) Director, Department of
Minorities Welfare

(c) Deputy Director of Public
Instruction of the respective
district.

(d) District Officer of the
respective district, Department
of Minorities Welfare

What is the age limit prescribed for

the minority students who are

pursuing higher education in
abroad to get scholarship ?

(a) Less than 36 years

(b) Less than 35 years

(c) Less than 38 years

(d) Less than 28 years

At least how many number of

students shall be there in rural/

urban area to establish a relief
centre for the minority students ?

(a) 25

(b) 40

(c) 30

(d 20

What is the amount earmarked

annually towards medical expenses

for each Morarji Desai Residential
School ?

(a) 10,000
(b) 25,000
(c) 5,000
(d) 15,000
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Father of Computer is
(a) Charles Babbage
(b) Bill Gates

(c) Michael Faraday

(d) Von Neumann

An Input device is
(a) Scanner

(b) Printer

(c) Monitor

(d) Cable

Which of the following is not the
hardware of the computer ?

(a) Input devices
(b) Processing unit
(c) Storage

(d) Virus

A device that takes physiological
information about a person and
stores in a computer.

(a) Software

(b) Digital camera
(c) Microphone
(d) Biometric

One of the uses of magnetic card
reader is

(a) ATM card

(b) Pointer

(c) Idcard

(d) Both (a) and (b)

79.

80.

81.

82.

83.

25-A)

Which of these are
device(s) ?

(a) Floppy disk
(b) Tape

(c) Network drive
(d) All the above

storage

An example for utility software
(a) DOS

(b) Linux

(c) WinZip

(d) MS-Office

Name the language that a

computer can understand
(a) Binary language

(b) High level language
(c) Assembly language
(d) None of these

Which of the following is a
programming language ?

(a) Lotus

(b) C

(c) Database
(d) gmail

Which of the devices below will
receive the information from user ?

(a) Output device
(b) Input device
(c) Printer

(d) Plotter
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Without user knowledge,
collecting user information can
be done using

(a) Hardware
(b) Spyware
(c) Freeware
(d) Software

What can be filled in the boxes of
Microsoft Excel sheet ?

(a) Text

(b) Numbers

(c) Pictures

(d) Both (a) and (b)

Technology used in  first

generation computer
(a) Integrated circuit
(b) Vacuum tubes
(c) Transistors

(d) All of these

Which of the following is
designed to display data, with
focus on how data looks ?

(a) HTML
(b) HML
(c) XML
(d) XTML

Example for Micro Computer
(a) Desktop

(b) PARAM

(c) IBM 370

(d) None of these

89.

90.

91.

92.

93.
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Which part generates electrical
signal in the Joystick device ?

(a) Operating Rod

(b) Stick

(c) Rotating Ball

(d) None of the above

E-mail technology is invented by
(a) Bill Gates

(b) Ray Tomlinson

(¢) Ajim Premji

(d) None of the above

What are the functions carried
out by computer ?

(a) Accepting Information
(b) Storing Information
(c) Processing

(d) All the above

Full form of CRT is

(a) Cathode Ray Tube

(b) Cathode Ray Torch

(c) Cathode Ray Time

(d) Cancer Research Technology

The component that transfers
power from electric mains to
computer

(a) RAM

(b) Keyboard
(c) SMPS

(d) Monitor
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to transfer computer files from
one host to another host over a
TCP-based network

(a) File Transfer Protocol
(b) File Transmission Protocol

(c) File Transformation

Protocol

(d) None of these

Abbreviation of RAM is
(a) Read And Memory
(b) Read Only Memory
(c) Random Access Memory

(d) None of these

To avoid unwanted email which

coming into inbox

(a) Send sender mail Id to block
list

(b) Mark it as Spam

(c) Remove email whenever it

comes

(d) None of these

(29-A)

97.

98.

99.

100.

Pick the word which does not
belong to the group

(a) Keyboard

(b) Network Interface Card
(c) Mouse

(d) Joystick

Which of the following can

be used for searching

and downloading files from

internet ?

(a) Browser
(b) Compiler
(c) Interpreter
(d) Assembler

In the architecture of a computer,
ALU stands for

(a) Analytical Unit

(b) Arithmetic Logic Unit
(c) Abstraction Logic Unit
(d) None of the above

that
translates high level language into

A computer program

machine language is known as
(a) Macro processor

(b) Micro processor

(c) Compiler

(d) Assembler
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